TABELA ZESTAWCZA ZJAZDOW
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Z1 | 00+040,80 | - - P 6,0 9,0 A 19,8 - - - - 2,9 24/2, 25
Z2 | 00+066,50 | 9,0 | 40 L 6,0 9,0 A 18,9 - - - - 2,7 12
Z3 00+085,13 | 9,0 | 40 L 6,0 9,0 A 20,0 - - - - 3,0 12
Z4 00+085,29 - - P 6,0 9,0 A 19,3 - - - - 29 25
Z5 00+115,01 - - P 6,0 9,0 A 19,0 - - - - 2,8 26
Z6 00+163,34 | 85 | 40 L 55 8,5 A 22,4 - - - = 3,7 13
z7 00+184,33 | 6,5 | 40 L 3,5 6,5 A 15,6 - - - = 3.8 108
Z8 | 00+295,08 | 7,5 | 40 L 45 75 A 19,0 - - - - 3,7 108
Z9 00+298,84 - - P 55 8,5 A 21,4 - - - = 35 112/5
Z10 | 00+412,52 | 8,0 | 40 L 5,0 8,0 A 20,5 - - - - 3,7 108
Z11 | 00+472,86 | 7,0 | 40 L 4,0 7,0 A 16,7 - - - - 3,6 108
Z12 | 00+570,59 | 8,5 | 40 L 55 8,5 A 22,1 - - - - 3,6 109
Z13 | 00+613,69 - - P 45 75 A 17,2 - - - = 33 114
Z14 | 00+673,51 | 9,0 | 40 L 6,0 9,0 A 28,7 - - - - 44 109
Z15 | 00+699,69 | - - L 4,0 7,0 A 11,2 - - - - 2,0 109
Z16 | 00+732,57 | - - P 6,0 9,0 A 25,4 - - - - 3,8 169/3
Z17 | 00+786,83 - - P 4,0 7,0 A 14,2 - - - - 3,0 169/5
Z18 | 00+791,29 |13,0| 40 L 5,0 8,0 A 33,7 - - - - 4,6 201
Z19 | 00+980,05 | - - P 5,7 8,7 A 21,3 - - - - 33 166
Z20 | 00+988,90 | - - P 6,0 9,0 A 22,4 - - - - 3,3 166




